Lesson 2
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The drawing below shows a wall frame with a 38 1/8” x 65 %" window opening. How much smaller do
you need to make the opening if the window you are installing is 36 3/16” x 62 3/8”, and you are
required to leave a 2" gap between the window and the opening on each side?
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The following questions refer to the kitchen elevation shown below.

What is the width of the right upper cabinet?
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If the window is centered between the upper cabinets as shown, how much wall space is there between
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What is the distance from the top of the wall cabinet to the ceiling?
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